Calculus AB
5-6
Inverse Trigonometric Functions

f(x)=arcsinx or f(x)=sin"x f(x)=arccosx or f(x)=cos 'x
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f(x)=arctanx or f(x)=tan 'x Evaluate each expression without
domain: R using a calculator. (pg379)
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Evaluate the expression without using a calculator.

18a) tan [arccos(—\j—z)] 18b) cos [arcsm( 13 ]

IS
e ¥
w2
| R
- |
Write the expression in algebraic form.
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Find the derivative of each. (pg379)
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45) g(x) = 3arccos >

49) glx) =

arcsin 3x
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Inverse Trigonometric Functions: Differentiation

Function Derivative
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f(x) = arcsin(x)
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f(x) = arccos(x)
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f(x) = arctan(x
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f(x) = arccsc(x)

f(x) = arcsec(x)
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f(x) = arccot(x)
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